L50650bOM 53356900l 5TIMbULBS oEsddo. 2022
(Engineering Problem Solving with Matlab)
IT Bogmb@®mmenm
Quiz II
Jmgd0b 296sfogds Lszombgdol dobgz00m:

Points distribution:

1 -3 gyeos (points), 2 —33¢)es (points), 3 3o (points), 4 -3j7es (points), 5-3 gy (points).
Jmaoms xs00 (Total): 15

3obLgbom sboero m-gsow-li39bsM0 s Fgobsbgm Lobguoom Loz2mdzgboagzs®obobgero.m Open
new m file and save it as “quiz2yournamesurname.m”

m-x350¢0sb o850 439ws 33090 O 2o3LYIBMOZ90 936960 (439es IBIMPRYBO og5egds
395L6MEq0 9 m-Boow b3gbs@do; (use cle, clear all, close all. Make all works in m file).

dogmo # 1

1. a90mmzowgom (x-5)"2+(y+1)"2<36 5 (x+5)"2+(y-1)"2<36 {69930l 25005339000 300Gd)0
3303IM0L Gomommdo. (calculate area of the intersection figure for given inequalities).

2. 99dmbggzomo G0oEbzgdol g9gbgMo@mEmol LodwsEgdom ©9R969M06Mgm 10 Lodmeosbo
LoEY35 PoLOMIOIIO (35MMEV0), F5RMAYEID 9BIM0MGS LB LOFYZS FOBOYdO 56 Tgo353L
»C LOAdMMU.( Generate a 10-character password using a random number generator, repeat it
till the password does not contain the symbol "c")

3. 90399905 MO0 IM35¢(93600: f=3"x"3+2"x-12 o g= 3"x"2-20 godmmgzsego h=f"g, 03mggm
f 3615350 (93600L 893930 odmm3sgo /g s 93M9b6DY J98Mm0Ebgm Jgga0 s Bsdmo.
Polynomials are given f=3"x"3+2"x-12 and g= 3"x"2-20. Find h=f*g, roots of f, f/g and its
remainder.

4. 250mmzo¢go V=In(2*t)-In(t) 06 gaMowo [1, 4] 3moegdo. 35Bvbo FomBmoy0bgo m®mdspo
LobMLEom. Calculate integral of V=In(2*t)-In(t) in [1, 4]. print answer in double precision

5. 03m390 D=[ 98 8 1 0 ] bbgsmdgd0 s 553907 dglisdsdolo yMsxn030. (Find differencies of D=[ 9 8
810 ] and plot them).



